Let QO’= {1,2,3,4} and Q = {a,b,d}
F={Q’, {1,2,4}, {3}, ¢}

Note that F is a o-field

LetX(1)=a
X2)=bH
X(3B)=a
X4)=d

It follows that

X{F}1={X(A): A e F}={Q, {a}, o}
note that {a} €X{F }
however, {a}°={b,d} & X{F}

Therefore, X{F} is not a o-field.






9. z=y(x)2+(x)2
fl(zl)slo{ zl'le:AeB} = {mlﬂ:wm wak (0,0) @é cuud sl n M

= . V1 (x)2 —00
= 0{(x1,%0) (XD + (x2) € (—oo,a] } T v icmad: e ] |
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/2N /
= o (x1.%2) V(x1)* + (x2) * < a) i7p el " 7an (19

= o{(X1,X2): (X1)2+ (X2) ’< 32}

note that a is any real number implies that a® is any real number
Therefore, F(z,) is a o-field generate by a class of sets where each set

can be represented as disc with an arbitrary radius a* V 0 < a>< o,
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Number 9 continued

Z,= sign(x;—Xx;)=|1 if x;> X, corresponds to region III
0 if x;=x, corresponds to region II
-1 if x;<X, corresponds to region I

Fz)=0f{z, ' A: AEB}

= 0{ 22-1{1}9 ZZ-I{O}, ZZ-I{_I}: ZZ-I{ 1’0}3 Z2-1{19—1 }’ Z2-1{0a'1 }a Z21{ 13091 }}
=o{ Il , 1T , 1 N 11(C) I 11 (V)| , HUI , HTUITUIL }
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